TekyLue 3asBkn

KocmeTtuyeckuii peMoHT

BbikawwvsaHne

VHble paboTbl

3ameHa ABepHbIX

MepekpbiTve

CmeHa 3anopHomn

CwmeHa Tpy6onpoBofoB

MnaHoBbIN TekyLwwii

noabesaos TeppuTopumn 6nokoB B noabe3abl | ko3bipbkoB NoALE3A0B apmatypbl PEMOHT KpOBMU
Ne
n/n Anpec
nn. DUH. nn. DUH. Mpum. nn. OUH. | Mpum. nn. DUH. Mpum. nn. PUH. nn. DUH. nn. OUH. | Mpum. nn. OUH. | Mpum. nn. DUH.
1 2
1 CrpouTenbHas 1 10 000 350 m2] 3500 |2 pasa 1 2000
2 | CrpoutenbHas 1A 10 000 350 M2] 3500 |2 pasa 1 10 000
3 CrpoutenbHas 2 10 000 350 2] 3500 |2 pasa 1 5000
4 CrpownTenbsHas 3 10 000 350 m2] 3500 |2 pasa 1 2000
5 CrpouTtenbHas 4 10 000 350 2] 3500 |2 pasa 1 5000
6 CrpouTtensHas 5 10 000 350 m2] 3500 |2 pasa 1 10 000
7 CrpouTtensHas 6 10 000 350 2] 3500 |2 pasa 1 2000
8 CrpouTenbHas 7 10 000 350 2] 3500 |2 pa3sa 1 10 000
9 CrpoutenbHas 8 10 000 1,2 50 000 350 M2] 3500 J2pasa 1,2 40 000 1 2000
10| CrpoutensHas 9 10 000 350 2] 3500 |2 pasa 1 2 000
11| CrpowutensHas 10 10 000 350 M2] 3500 |2 pasa 1 20 000 1 2000
12| CrpoutenbHas 11 10 000 350 m2] 3500 |2 pasa 1 5000
13| CrpowutensHas 12 10 000 1 25000 350 M2] 3500 |2 pasa 1 5000
14| CrpoutenbHas 13 10 000 350 2] 3500 |2 pasa 1 5000
15| CrpoutensHas 14 10 000 350 m2] 3500 |2 pasa 1 5000
16| CrpoutensHas 15 10 000 350 2] 3500 |2 pasa 6 8 000 1 10 000
17 | CtpoutensHas 15/1 10 000 350 m2] 3500 |2 pasa 1 2000
18 [ CrpoutensHas 15/2 10 000 350 M2] 3500 |2 pasa 1 2000
19| CrpoutensHas 16 10 000 350 2] 3500 |2 pa3sa 1 2 000
20| CrpoutenbHas 18 10 000 350 M2] 3500 J2pasa 1 2000
21| CrpoutenbHas 31 10 000 350 m2] 3500 |2pasa 1 2000
22| CrpoutenbHas 33 10 000 350 2] 3500 [2pasa 1 2000
23| CrpoutensHas 34 10 000 1.2 50 000 350 m2] 3500 |2 pasa 6 8000 2m 2000 1 2000
24| CrpouTtenbHas 36 10 000 1.2 50 000 350 m2] 3500 |2pasa 6 8000 2m 2000 1 2000
25| CrpoutenbHas 38 10 000 350 2] 3500 |2 pasa 1 20 000 1 2000




26| CrtpouTenbHas 39 10 000 350 2] 3500 [2pasa 2000
27| CrpoutenbHas 40 10 000 350 m2] 3500 |2 pasa 2000
28| CrpoutenbHas 41 10 000 350 2] 3500 J2pasa 5000
29| CrpouTtenbHas 42 10 000 350 m2] 3500 |2pasa 8000 2m 2000 2000
30| CrpoutenbHas 43 10 000 350 m2] 3500 |2 pasa 2000
PEMOHT
31| CrpoutenbHas 44 10 000 350 Mm2] 3500 [2pasal wTykaTypHOro crnos 10 000 2 000
Lokons
32| CrpoutensHas 46 10 000 350 2] 3500 |2 pasa 2 000
33 INenunHa 14 10 000 350 M2] 3500 |2 pasa 5000
34 IennHa 30 10 000 350 2] 3500 |2 pasa 5000
35 IennHa 50 10 000 350 2] 3500 |2 pasa 10 000
36 Nenuna 17/1 10 000 350 m2] 3500 |2 pasa 12 10 000 2000
37 CupeHesblii 11 10 000 350 m2] 3500 |2 pasa 2000
38| TpaHcnopTHas 8 10 000 350 2] 3500 |2 pa3sa 15 000
39 OkTsabpbckas 1 10 000 350 M2] 3500 |2 pasa 10 000
40 OkTa6pbcKasn 2 10 000 350 m2] 3500 |2 pasa 10 000
41| OkTAbpbckas 2A 10 000 350 m2] 3500 |2 pasa 10 000
42 OkTs6pbckas 3 10 000 350 m2] 3500 |2 pasa 300 000
43 OkTsi6pbckast 5 10 000 350 2] 3500 |2 pasa 2000
44 OkTsi6pbckas 8 10 000 350 2] 3500 [2pasa 2000
45 OkTs6pbckasn 9 10 000 350 2] 3500 |2 pa3sa 2 000
46| Okrabpbckas 10 10 000 350 M2] 3500 |2 pasa 20 000
47| OkTabpbckas 11 10 000 25000 350 m2] 3500 |2 pasa 2000
48 OkTsbpbckas 12 10 000 350 2] 3500 |2 pasa 20 000
49| Okrabpbckasn 13 10 000 350 m2] 3500 |2 pasa 2000
50| OkTabpbeckas 14 10 000 350 m2] 3500 |2 pasa 2000
51 OkTsibpbckast 16 10 000 350 2] 3500 |2 pa3sa 2 000
52| OkTabpbekasn 17 10 000 350 m2] 3500 |2 pasa 2000




53 OkTsibpbekast 18 10 000 350 M2] 3500 J2pasa 20 000
54| Oktsabpbckas 19 10 000 350 2] 3500 |2 pasa 2 000
55| Oktsibpbckas 20 10 000 350 M2] 3500 |2 pasa 2000
56 OkTsbpbckas 21 10 000 350 2] 3500 |2 pasa 2000
57| OkTtabpbckas 22 10 000 350 m2] 3500 |2 pasa 5000
58| OktaBpbekas 23 10 000 1,2 | 50 000 350 m2] 3500 |2 pasa 2000
59| Oktsibpbekas 25 10 000 1,2 | 50 000 350 2] 3500 |2 pasa 8 000 2m 2 000 5000
60| OkTsbpbckas 27 10 000 1,2 | 50 000 350 Mm2] 3500 |2pasal] PpeMOHT LlOKOMSA 50 000 5000
61 OkTsi6pbekast 29 10 000 350 2] 3500 |2 pasa 5000
62| Oktabpbckas 37 10 000 350 m2] 3500 |2 pasa 10 000
63| Oktabpbckas 45 10 000 350 m2] 3500 |2 pasa 100 000
64| Oktabpbckas 47 10 000 350 m2] 3500 |2 pasa 5000
65| Oktabpbckas 49 10 000 350 m2] 3500 |2 pasa 8000 2m 2 000 5000
66| OkTsabpbekas 51 10 000 350 2] 3500 |2 pasa 20 000 8 000 2m 2 000 5000
67| Oktabpbckas 53 10 000 350 m2] 3500 |2 pasa 5000
68| OkTsbpbckas 55 10 000 1,2 | 50 000 350 m2] 3500 |2 pasa 10 000
69| OktABpbcKan 57 10 000 350 m2| 3500 |2 pasa V6°::;;$°r° 10000 2000
70| OkTsbpbckas 59 10 000 350 m2] 3500 |2 pasa 20 000
71| Okrsbpbckas 61 10 000 350 m2] 3500 |2 pasa 5000




